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B.Com. (PART-I}) EXAMINATION, 2018

ACCOUNTING AND FINANCE
Second Paper-(Business Statistics)

Time allowed : Three hours Maximum marks : 100
Part-A (Compulsory)
Wt-3¢ ( 1frar )
Write any two limitations of Statistics.
wiferet ! FE Q G\ fafad |
State the meaning of Secondary data.
feeta o &7 97 wagd |
What is statistical error ?.
gifera faum 59 <5 '% ?

N

10.

11

12.

State the formula of Prof. H A. Sturges to find out the class interval,
i foaean 7@ %A F fau W, W@ =969 @ gy s

What is the difference between Simple and Multiple chressmn ?
A T aEION TAgTee § 7 SRR 7 v

On the basis of a sample of 100 students, it was found that coefficient
of corrclation between marks obtained in Accountancy and Statistics
was +0.93. Assuming the distribution of marks to be normal. find out
probable limits of coelficient of correlation of the universe.

U Wfeael sTea & 3R W 1mﬁaﬁdﬁ%uﬁaﬁ@mﬁﬁm
& T FE-WEH 0 +0.93, T ol | WIKAeh! H1 6T FAHFT HHF
T & We-H TN Y g I F e |
State the Fisher’s fc. ‘mula of Time Reversal Test.
. W%wmﬁwm@mﬁl
What is Trend ? State various methods of measuring it.
Iwfa Fn ® 2 38 WA A W fafie Al 5 aaed |
What do you understand by “Statistical Quantity Control” ?
‘Fiferm - A sy w T ¥ 0
Write down the binomial expansion of (Y-1)".
Y-1)y 1 fgog faar s
Part-B (Compulsory)

M- ( 3frard )
Differentiate clearly between a questionnaire and a scherlule, 4
WA AU ST W ST T A ¢ 4
If the S.D. of a series.in 7.5, find the most likely value of mean
deviation and quartile deviation.

Hﬁ@ﬁvﬂﬁmﬁaﬂa{aﬁs%ﬁlmﬁaﬁaa@wm%
Trfad Jea 3 wifd | 4
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13. Calculate :

14.

15.

tG.

(a) Standard deviation of Y series
(b) Coefficient of correlation

If X=_.85Y.Y=.89X:0X =3 . 4
'ﬂﬁﬂﬂﬁs‘l’& - ,

(a) Y Foit &1 g fagem

(b) “Te-T=Y ToIEH

afg X=.85Y.Y=.89X;0X=3 4

Compute the trend values by the method of least square from the
following data :

wﬁﬁﬁmmmﬁmwﬁmﬁ@

Year Population in lakhs
e ' mm‘ﬁ
2004 605 - .-
2005 | 640

2006 700

2007 770

2008 900

2009 945

2010 1,000

From the fol]owmz, dala interpolate the missing figure using a suitable
formula : '

ﬁm;ﬁﬁﬁmwwmm@mwmw
Hifad

Year ' | Value

1997 - 1331

1998 1728

1999 .. 2197

2000 ?

2001 3395 .

2002 ' 4096

2003 _ 4913 4
Part-C ( 4T1-9/)
Unit-1(FHE-1)

Ten percent of the workers in a firm, employing a total of 2,000 workers,
earn less than ¥ 2.00 per day, 480 earn from ¥ 2.00 to T 2.24 per day,
30 percent earn from T 2.25 to T 2.49 per day, 370 earn from ¥ 2.50 to
T 2.74 per day, 12 percent earn from ¥ 2.75 to T 2.99 per day and the
rest earn ¥ 3.00 or more per day. What is the median age 7 20

TF FH % 2,000 HEEfEd F @ 10 wiowa sHud T 2.00 wiafes @ w1
I HT ¥, 480 HHEI T 2.00 | T 2.24 wfafem; 30 wfowa wHowt T 2.25
q 7 2.49 wfafes, 370 a2 2.50 § ¥ 2.74, 12 Ufovm FHaRi 2275 9§
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17,

18,

T 2,99 whifaa, ﬁqmﬂaﬁzswmmﬁm@rﬂammﬁlw
gl A E 2 20

Or .
Explain the meaning and importance of measures of skewness and
dispersion. Comment on the various measures of skewness. Which
measure is generally preferred and why ? 20

forqmar qem sTafetor & wal [ 219G A §9% W o faa=T Sifer |

forquan & fafv=r ardl o1 gufa IR | QareE: #9-w1 5 & F o

T ® T i ? 20
Unit-1I ( THE-11 )

The competitors in a beauly contest are ranked by three Judges in the
tollowing order . https://www.mdsuonline.com

wwuﬁzﬂﬁmﬁwvﬂﬁﬁﬁiaﬁ?ﬁqﬁvﬂﬂﬁmmmm

ERRCE
[ Judge I Judge I Judge -

e fofes g Pofas Ftg o,
I

3 6

6 5 4

5 8 9.

L0 4 8

3 Ny 1

2 100 2

4 2 3

9 1 10

7 6 5

8§ 9 7
Use the rank correlation to discuss which pair of Judges have the
nearest approach to commaon task in beauty. - 20

i TE-TE & YR W A7 Fa5Y fF S-9 @ fofasi § gewa &

afa frapeem fa.d | | 20
Write explanatory notes on the following :
(i) Deflating . (i1) Splicing
(111) Base Shifting {1v) Circular Test. 5+5+545
frefafas w sawemeres feofor fafed .
(i) 3R | (OREER R
(iii) =ner efRada (iv) R GO | 5+5+5+5

- Unit-JI ( 3&78-111 )
What are the compenents of time scrics 7 Bring out the «gnificance
of moving averages in analysing a time series and point out its

limitations. 6+8+6
T Fot &% BY-HE W GHISH B € 2 THR 90 & faverm w # 9e
ol & Heed S wmel Ry e | 6+8+6
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(a)

(b)

Or
If 5th item of a Arithmetic Progression is 14 and 11th item is 32,

then find the series and value of 20th jtcm. 10
fordt Tar=aR 9ol 1 581 9T 14 3R 1197 98 32 21 1 Soit 9| Fifsd
3R uit =1 2047 92 ferfe | 10
If 7th item of a Geometric Progression is 15695 and common
ratio is 57, then find Ist, 4th and 6th item. 10
foredt iR Soft a1 7ai wg —— 15625 =1 3R W - 31w 5 2 A e,
7 3R B3 9 79 Hiferd |
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